TR 184E

I RE:Y 53 3 AN
o 5 MOEE | AIE | BRI
(fiBm) | BE A
—fi1ER
XfE |SECC)| KIE(C) | HRERKIER | HiiR =kl RS
48] Bh 18.5 16.4 KRB B R AR - ¢ BR
68| BEh 27.2 22.6 xE BE PR AR - ¢ BR
sA| Bh 274 273 xE B R AR - 5% EBR
10A] &Y 26.2 23.2 x[E B BRI EBR
128 1REF 15.8 13.7 KRB B i) BR
2A| _®h | 118 140 =B B 22 ma
4 ERIIA B
H DO BOD SS PN T f2
P (mg/) (mg/) | (mg/) | (MPN/100ml)
ERME| 6.5~85] 755LF | 2.0LLF | 255LF | 1000LIF
F{E(75%1E) - 11 0.6(0.6) 2 -
48] 77 10 <05 2 -
6A| 74 10 0.6 2 -
8A| 73 8.8 <05 i -
10A] 75 9.0 <05 i -
12A] 16 12 <05 i -
28| 82 13 1.1 7 -
BEREH
AREOL| 2T $h ANE/OL| WE BEKER 7 ILFILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
BBl 00T [ e | 001LAF [ 005LF [001LATF | 00005 F [ JFEiEH
FHfE] - - - - - - -
a4l - - - - - - -
6A[ - - - - - - -
sAl - - - - - - -
108 - - - - - - -
128 - - - - - - -
2B - - - - - - -
D2/ 1=1=F e | 1,2-270 [1,1-0500]| Y A-1,2-098] 1,1,1-F)50
PCB e, | EEmE | D o T By nTAe
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
BEEE] R [0.028LTF [ 0.0025F [0.00420F [ 0.02LLF [ 0043 TF 1LLF
S - - - - - - -
a4 - - - - - - -
6Al - - - - - - -
sAl - - - - - - -
108 - - - - - - -
128 - - - - - - -
2B - - - - - - -
112-k)5 [F)Z0A[FRFaaI]1,3-250 = sz,  |FARDAL
aaIsy | TFLY FLY oroRy Fo5L e P I
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#{E[0.006 L F[0.03LLF [ 0.01LLF [0.002L4F [0.006LLF[ 0.003L4F | 0.02LLF
[ Tl - - - - - - -
a4l - - - - - - -
6A| - - - - - - -
sAl - - - - - - -
108 - - - - - - -
128 - - - - - - -
2] - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—~FH . TRILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - 1.3 0.032 = = = =
4R - 1.5 0.025 - - - -
64 - 1.1 0.020 - - - -
8H - - - - - - -
10H - 1.1 0.039 - - - -
128 - 1.3 0.043 - - - -
2H - - - - - - -
BiLH HHRRYE | R : e (=S
IT/=| kS cobD el > AR BREER
(mg/) | (mg/1) (mg/1) (mg/1) (mg/1) (BE) (uS/cm)
FH{E - = 1.8 = = - -
4A[ - - 1.7 - - - -
6B - - 1.6 - - - -
8H - - 1.5 - - - -
10A] - - 1.5 - - - -
128 - - 1.7 - - - -
28 - - 2.8 - - - -




RIS

E | m =i
. B EE% Aig | E=EN
(wHyR) | J® A
— g8 B
Xz | SRCC) | KiE(°C) | HEUKER | FRiR =Xi:] R
48] Bh 18.3 15.8 == BE [R5 mR
6Bl Bn 26.8 22.9 =B BE JREZE - ¢ mE
8Bl ®Bh 28.0 31.8 == BE [R5 mR
108 =Y 26.3 235 =RE BE Hixf % wmR
128 5 16.0 12.6 =IE BE me mR
28| Bh 14.6 13.0 xE BE P gR - 3¢ B®R
4FRIBIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E] 656~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 9.7 1.1(1.2) 4 -
48] 77 10 11 4 -
64 7.4 9.2 1.1 1 —
8A 7.4 8.5 1.2 9 -
10A] 74 8.4 0.6 2 -
12A] 74 9.9 0.9 4 -
2A] 76 12 1.4 2 -
BEIER
N INESS P o) ANEvOL| WmE Bk ER 7 ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Bl 001LLTF [ EHR/H | 001LLF | 005LLF [ 001LLF | 0.0005LLF JERH
TiH{E - - - - - = =
4K - - - - - - -
6A - - - - - - -
8H - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
SZTeI=E] wee | 1,2-290 [1,1-C900|Y2-12-090(1,1,1-kJH0
PCB 5 mig LR axs | TFLo A RTae
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
(gl FERH [0.02L8LTF ] 0.002LLF [ 0.004LLF [ 00280 F [ 0.04LLF 1LF
iy - - - - - - -
4K - - - - - - -
6A - - - - - - -
8H - - - - - - -
10A] - - - - - - -
128 - - - - - - -
28 - - - - - - -
1,12-ry4 (RS BA[FS9a0I] 1,3-049A = IEON FARAIL
nazss | 3L | FLy | pFaRy | TII7L| YOV J
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E0.006LLF[0.03LLF | 001LLF | 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
iy - - - - - - -
4K - - - - - - -
68 - - - - - - -
8H - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -




Ryt | vy |HRESRRT| so% | E5%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EE{E] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—wm@ - [ - - - -
4H - - - - -
6H - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2R - - - - -
EDHIEE
N—~4 \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
ToEl - 1.6 0.044 = = = =
4A - 1.8 0.038 - - - -
64 - 1.4 0.046 - - - -
8H - - - - - - -
10H - 5] 0.049 - - - -
12H - 1.5 0.043 - - - -
2R - - - - - -
BieH HHRRYE | VR ; = i S
IT/=| kS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (u S/cm)
FH{E - - 2.6 = = = =
4A[ - - 25 - - - -
6A| - - 25 - - - -
sA| - - 34 - - - -
10R] - - 1.9 - - - -
12A] - - 23 - - - -
28 - - 30 - - - -




RIS

SHXE| mINa | £
ih 4
(H#£Em) | BR A
—{%IE B
X |[KEBCc)| KEB(Cc) | #BUKZE | FHiR 48 B&
48] Bh 17.9 16.3 EdS BE Sk -k me
68| Bh 26.0 24.2 xE BE | &e- % ER) me
s8A| ®Bh 33.0 29.5 =RE BE & - mR
108 =Y 26.8 23.6 == BE Rk - me
128 5 15.1 13.8 =IE BE iR -t mR
28| Bh 15.6 13.9 xE BE Rk iR B®R
$ERREIER -
oH DO BOD SS KEEHK
(mg/1) (mg/) (mg/l) | (MPN/100ml)
E&(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 10 1.9(2.7) 4 100000
48] 78 10 0.7 3 -
6A] 75 9.8 2.1 3 33000
8A 7.7 9.1 0.6 3 -
108 74 8.7 1.3 4 170000
128 74 11 2.7 3 -
28 7.6 12 4.1 5 —
BFEER
NI INED S fn ANEvAL| mE fKER 7 IL¥ILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EA(E] 0.01LLF | E#EHE | 001LLF | 0.05LLF [ 0.01LLF | 0.0005LLF EEH
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
27 - - - - - - -
SoA0A eowe | 1,2-0908[11-2500|YX-1,2-S50( 1,1,1-k) 50
PCB gy | PREER | nrgy | 'zFie | ozFiy AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
BE#EE] ERE [0.02LLF ] 0.002LLF [ 0.004LLF | 0.02LLF | 0.04LLF 1LF
T5{E - <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
4 - <0002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
68 - <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
8Al - - - - - - -
108 - <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
128 - <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
2R - - - - - - -
1.1.2-ry4 [FYZAB[FFSY00I] 1,3-090 = N FARUAIIL
nazss | 3L | FLy | pFaRy | TII7L| VIOV J
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E]0.006 L F ] 0.03LLF | 0.01LLF | 0.002LLF [0.006 L F| 0.003LLF 0.02LLF
SE{E] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4A[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6 Al <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
108]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
27 - - - - - - -




Ryt | vy |HRESRRT so% | 35%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2B 001 AT [001UTF[ 100F [ 08UF | 1LUTF
EHfE[ <0001 | <0.001 13 <0.1 <0.1
4A] <0001 | <0.001 15 <0.1 <0.1
68| <0001 | <0.001 12 <0.1 <0.1
sAl - - - - -
10A] <0001 | <0.001 11 <0.1 <0.1
12A] <0001 | <0.001 13 <0.1 <0.1
28 - - - - -
ZOHIEER
N SR | 28 @ | 2E@ | saofus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE — 1.5 0.072 N <0.005 — -
4R - 17 0.053 - - - -
68 - 16 0.092 - - - -
8AH - - - - <0.005 - -
108 - 3 0.071 - - - -
128 - 5 0.070 - - - -
28 - - - - - - -
R (7] MmN | UUBRM s Repp——
IT/=| kS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (u S/cm)
E¥){E - - 3.2 — — — 300
4R - - 22 - - - 180
64 - - 3.7 - - - 210
8AH - - 26 - - - 210
108 - - 26 - - - 500
128 - - 3.6 - - - 320
28 - - 4.7 - - - 370




RIS

5 %iffﬁ Aa | EEEN
(BER) | #® A
— I8 B
Xz | SBECC) | KiE(°C) | HEUKER | FRiR =Xz R
48] Bh 17.7 16.8 ES BE k-t me
6A|l mBh 26.2 24.8 =B B | Bk EA) |ms
8A| mKEh 32.6 31.1 == BE R - me
10H| =Y 27.2 26.1 =IE R iR -th | JIGER -
128 5 16.6 16.3 == BE k- | JIER-
28| Bh 17.0 15.8 xE nEd Tk gl - ¢ B®R
4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE (75%1E) - 8.0 2.9(4.0) 4 2500000
48] 77 10 1.7 3 -
6A| 74 8.1 1.9 3 79000
8A 7.3 8.5 1.7 4 -
10A] 82 6.4 4.2 5 4900000
12A] 79 6.6 3.8 4 -
28 75 8.4 40 6 -
RBEIER
NS INESS P ED ANEvOL| WmE Bk ER 7L ILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLTF | ERE | 001LLF | 0.05LLF | 0.01LLF | 0.0005LLF JEHRH
EH <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 0.002 <0.0005 -
12A8] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
SoA0A eowe | 1,2-0908[1,1-2500|YX-1,2-S50( 1,1,1-k) 50
PCB gy | PREER | nrgy | 'zFie | ozFiy AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s ERE [0.02LLF] 0.002LLTF | 0.004LLTF | 0.02LLF | 0.04LLF 1LTF
EH = <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
48 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
6 A - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
8H - - - - - - -
104 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
128 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1,1.2-ry4 [FYZABFFS400I] 1,3-090 = s oyt FARUAIIL
nazss | 3L | FLy | pFaRy | TII7L| YOV J
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF | 0.002LLF [0.006 L | 0.003LLTF 0.02LLF
EH <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8H - - - - - - -
10A8]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEEE] 001LLTF 1001LLF| 10LLF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.88 0.3 1.0
4H] <o0.001 <0.001 1.6 <0.1 <0.1
6A] <0.001 <0.001 1.1 <0.1 0.2
8H - - - - -
10H] <0.001 <0.001 0.20 0.5 1.7
12H] <0.001 <0.001 0.60 0.5 2.0
2H - - - - -
EDHIEE
N SR | 28 @ | 2E@ | saofus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 1.4 0.12 - <0.005 - -
4R - 1.8 0.063 - - - -
64 - 1.5 0.10 - - - -
8A - - - - <0.005 - -
10H - 0.92 0.15 - - - -
12H - 1.4 0.17 - - - -
2H - - - - - - -
BiLH B | B s o =i S
IT/=| xS coD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (uS/cm)
EH{E - 5900 3.4 - 0.05 - -
4A - 80 2.8 - 0.04 - -
64 - 460 2.9 - 0.05 - -
8A - - 2.8 - - - -
10H - 13000 3.9 - 0.03 - -
12H - 10000 3.7 - 0.07 - -
28| - - 41 - - - -




